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Kellergeschoss
Flur
Abstellraum 1
Abstellraum 2
Bad
Abstellraum 3
Heizraum

Wohnflache KG
Wohnflache Gesamt

12,06 m?
11,58 m?
10,49 m?
6,16 m?
7,13 m?
6,39 m?

53,81 m?
323,16 m?
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Erdgeschoss
Windfang
wC

Diele/ Essen
Kiche
Terrasse 1
Wohnen
Terrasse 2
Zimmer 1
Bad

Garage

Wohnflache EG
Wohnflache Gesamt

3,83 m?
2,14 m?
11,24 m?
7,13 m?
5,57 m?
31,22 m?
25,55 m?
12,93 m?
3,41 m?
31,64 m?

134,66 m?
323,16 m?
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Obergeschoss
Flur
Garderobe
Abstellraum
Bad 1

Bad 2

Diele
Zimmer 2
Zimmer 3
Zimmer 4
Podest

Wohnflache OG
Wohnflache Gesamt

4,47 m?
3,21 m?
0,86 m?
4,99 m?
4,80 m?
5,55 m?
16,87 m?
24,10 m?
28,70 m?
2,67 m?

96,22 m?
323,16 m?
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Dachgeschoss
Flur

wC

Zimmer 5
Zimmer 6
Podest
Abstellraum

Wohnflache DG
Wohnflache Gesamt

3,24 m?
2,48 m?
12,66 m?
16,01 m?
1,78 m?
2,30 m?

38,47 m?
323,16 m?



